magﬁazm/ QUESTION BOOKLET

gﬁrﬁm # geai Bt A=/
Number of Pages in Booklet :

gﬁamrﬁusa‘raﬁm/

Number of Questions in Booklet :

1. 9T U B &l B9 A g, U 306l §oa YRefeet 312 31U, 3aR-U bl il

B IR Ferltaa 3¢ o :

7@ YR 3R 3110 3. 3030 &) b J1 JA1E ¢ |

ved Qfteree! o oll g 3l & fad ¢ 3 Feft gl 12 AR ped e ¢ |
fomit oft ferfortcr/era o warct &, ararel bt yoet gRRereet 3 3.0, -0 Bl
TRcHal b feTU GEct JITHOTOR, O ATEch Yl Seft ATEE | GEHaT Wreas &1 b T overe
are 33 Fae 3 (oot off gra/3mute W o ol fosen oo | s forw areeret et
Eaul

2. 303, FTR-Ume & OB i oo el ferdar o |

3. 3O3R, FER-U% W $ad aitct el WISe Uel bl Tl &2 | U, 311,031, -
T3 & 30 el da 3R 31 DR T G A H |

4, Tt el & 37 A & | U Ierd JaT b (10 §9 BT 1/3 3 BIE it |

5. i el e & for ves A it T aifeba s ot & ft 32 o orerd Fer e iR |

6. WP ¥ea & Urd fasea/oil €| vgal ar Reeseu/onet A, B, C 3iiz D 30y 3w &
FHelfta & 3 Ul foweu/anen ‘E” ‘3fafed §e’ & ad &

7. T8 IR EA B foru sreaell &l 3.0e.31R. FR-Uid W Faltid e F1 b Ugel IR
fe@ea A, B, C a1 D & 3 $ael U fiebed /et i aitet dlct @rse el 3 #2el gl |3
3yt el woa o1 Fe Al Seft angan € Wred e/ttt ‘E” @l gl et & |

8. afe ura fiecul & 3 o1e off feeca/mien wrawr o1¢ fobam v &t et a1 1/3 4T 37 Bre
forem SRy |

9. 10 ufcrard & aifees yoeti & fepelt oft feecu/mict et araarelt grer ey ofél fepem v i 33
e & fofw 3o St e feam s |

10. 3reefl 3 YIS Weet 3 fore oot A ot U e /oten a1 & 2 8 6 feiivaa dea
& forw 10 foree affiam few andar |

M. R et o et o 3iSiot eemeor & 50T 21 G UGl @ el ot Hepre o S/
Tl 8, dl 3idieil Aeebav B 3ffcier Far s |

12. e & & Ararget e/ farga 2 foelt 3 getagiterds ofe a1 3UT e aford
B3t foalt anozrelt & wrr At g wferafira meralt g o it 3u forg et
F5d BRATS B oIt |

el : AT B3 3raell et Bl gL U G & A 3G A1cs JUard gu Urel Gl & a1
T U BT It A U Tt & al 3 RACTG Yferd Tl 3 0.3, 3R, 3ot ot
ST 3R G o7 Frdoiterd e 3ifeiterrar, 2022 3R Femera iftferer 2023, (st &
g el I AR b ) B e FebEHAT TeTel o 10 Jrzerd aion forer 10 W
A 3iroftad BRIaRT dam T 10 BR1g o &1 YIaee & |33 ais @t sifaer bt Jaft wdiemait 3 2t
o0 A faafefa off foeam o a8

3 U181 YRA®I Bl a4 d o Bl oid db P&l of Gile |

4 DS22

24 | 39 TN YR Bl dd o  Fet o1d b el of o |

____________ | Do not open this test booklet until you are asked to do so.

3Rl INSTRUCTIONS

DS22

Question Booklet Number
uee gRaw! sHHIE

1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
0.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.
In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.
2. Readallinstructions on the reverse of 0.M.R. Answer Sheet.

3. OnO.M.R Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. Foreach wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. [Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

11. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated asfinal.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadgetin the
examination hall is strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.I.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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TIAT HT AHR AEH (2005 F A,

frfafad & ¥ feg fawg ¥ deifia SweRt &

TheIeh0 & T A BT ST ?

o IUYF TG

(A) T sl fe & ST SHaRal R
T AR I

(B) U AR ST IR Y THT 3 TAHAT B
T ST Thal &

(O wrdSiis wEterEt # fHgw st &
31ferepTe 3R e

(D) foreft TRt BT GRT T T TSI Bt
siforgt

(B) 31 aRd e

TepeTTe TosrhaTT ST ®F 38 witg Fasrpla (diem)

HT A8 TARY, 59 TR Sipma T ‘9ara =t

HATAAT HETTATE ?

(A)  Foi-3oft

(B) TSI IWTHTEAT

© Trar-AS

(D) S-S TETGT
(B) IraRa ueA

TSI & FTASCAT TG § TATAT AB-FeT,
ST g S 3SR A Farae & f @@= # Hra @1
HISTATATATE, IH FEd & -

(A) T

(B) g

(© dire

(D) =T

(B)  Irgand e

TfarEd ¥ 9, 69 wieq =i &, “d9 TRa”
TEA F q&d, TR Tofel HT ATqred A & g
FATITATE ?

(A) gATHEA
(B) ImHR
(C) FaHA
(D)  HATETTE fehe
(B) 3raRd e

Under the RTI Act (2005), there is an exemption
from the obligation of disclosure of information
relating to which one of the following matters ?
Choose the most appropriate answer :

(A) Monthly remuneration received by office
staff of a private corporation

(B) Information that may jeopardize the
Integrity and Sovereignty of India

(C) Powers and duties of officers deputed
within public offices

(D) Categories of documents held by a
Government office

(E)  Question not attempted

Name the iconic painting of the Kishangarh
School, acclaimed as the ‘Monalisa of India” by Eric
Dickinson.

(A) Bani-Thani
(B)  Bundi Ragamala

(©) Dhola Maru

(D) Roopmati-Baz Bahadur
(E)  Question not attempted

The folk art-form prevalent among tribal
communities in Rajasthan, wherein a needle-like
tool is used to insert black pigment into the skin for
adornment, is called :

(A) Godana
(B) Kavad
(C©)  Veel

(D) Mandana
(

E)  Question not attempted

Which of the following tourist spots has been
selected under the “Panch Gaurav” initiative to
represent the Jaipur district ?

(A) Hawa Mahal

(B)  Amber Fort

(©) Jantar Mantar

(D) Nahargarh Fort

(E)  Question not attempted



TSR & TRt gdet fopd T ae fRorq 2 2

T feT T fapedt 7 ¥ How SUgE TR B gATT
L

(A) SR

(B) 35X

©) pET

D) 3317

(B) 31 aRd e

o ¥, e Hifa smnr w5t 10t wafr
FIINIA BI ISh H, WIT feam 2

(A) TSI

(B) s

(C) =

(D)  fyrgm#=T

(B) IraRa ueA

IS AT IR % STTHA (ITATE) F& G 1 9 H o
HLAl 8, TP Al § 39 1% ST AT & | TS T

HY IS 7 km/h &, AT T STl & AT B TS ke /h &
FTE?

(A) 21
1
(B) 28>
) 24
(D) 35
(B) IrIaRa ueA

MS PowerPoint H gftehe TGS T & @7
TrfeTiad § & HIA-TT STEHE Hoit HT STINT [T
STATE ?

A)  Ctrl + Shift + D

B)  Ctrl +Shift + N

C) Ctrl+Alt+D

D) Ctrl+Alt+N

(B) I IaRa ued

STUTT T AT ?

(A)  263TFaLr 1947

(B)  263Tait1950

(C) 267dEX1947
(
(

D) 267 ddY 1949

E)  3raid 997

In which place of Rajasthan do we find the
Rampuria Haveli ?

Choose the most appropriate answer from the
options provided below :

(A)  Jodhpur

(B)  Udaipur

(C) Bikaner

(D)  Jhunjhunu

(E)  Question not attempted

Who participated from Rajasthan, in the 10th
Governing Council Meeting, of the NITI Aayog ?
(A) Governor

(B)  Finance Minister

(C)  Chief Minister

(D)  Education Minister

(E)  Question not attempted

A boat covers a certain distance downstream in

1 hour, while it comes back in 1% hours. If the

speed of the stream is 7 km/h, then what is the
speed of the boat in still water in km/h ?

(A) 21

1
®) 25
C) 24
(D) 35
(

E)  Question not attempted

Which of the following shortcut key, is used for
creating a duplicate slide, in MS PowerPoint ?

(A) Ctrl + Shift+D

(B) Ctrl + Shift + N

(©) Cul+Alt+D

(D) Ctul+Alt+N

(E)  Question not attempted

The Constitution of India, was adopted by the
Constituent Assembly of India on :

(A) 26 January 1947

B) 26 January 1950

C) 26 November 1947

D) 26 November 1949

E)  Question not attempted

P.T.O.



10.

11.

12.

13.

14.

Il TITHTAT WRA & fangg & d 6
T / HFATRAT TS H ETHT LA & ?

T f3T T foepedt 7 ¥ e SUgE TR B gATT
G

(A) T, Toeeit 37T Hel weet

(B)  TISTEATH, IY TSR0 3T Hel aaT

(C) o, Tt 3R T

(D) TSI, WeA YT 3 RIS

(B)  3raRd e

IS UG T H [T igd § &, SI=-HT =07 37
FaTare ?

(A)  THAH
(B) gz
(©)  wfafsar
(D) durdt

(B)  Irqand wed

I 3MT Gmail T TH THA TG &, af AT
H Y B -7 TIehed Taf Ul 78t BIaTg ?

(A) RS BIATT T frehed

(B)  3rC= g

©) gHRISE

(D) Aot

(B) IaRa ueA

W 2025 ¥, fFU W™ R §% (RBI) *T
-1 ferger o 7T 3R 3 59 ue W Frgem e
AT TR AT Sl 2

(A) SISO

(B) AR

(C)  warw mraT

(D)  =ifer oAl

(B)  3aRd wed

2011 BT STAIOMET & 3TTAR, TSRAT B FTAGEAT
T TS FTAITOT B AT H :

T fqw a7 fasedt # ¥ o9 SR S HT A
el

(A) werE

(B) IaAATEITET

© wgre

(D)  opdt 7t aieh T BT A&l ST HbaT
(B)  3raRd e

11.

12.

14.

The Aravalli Range runs through which of the
following States /Union Territory of India ?
Choose the most appropriate answer from the
options provided below :

(A) Rajasthan, Delhi and Madhya Pradesh

(B) Rajasthan, Uttar Pradesh and Madhya
Pradesh
(C©) Rajasthan, Delhi and Gujarat

(D) Rajasthan, Madhya Pradesh and Gujarat
(E)  Question not attempted

In the disaster management cycle, which of the
following stage, will come as the last stage ?

(

>

) Mitigation
B)  Recovery
C) Response

S

(
(
( Preparedness

(E)  Question not attempted

While composing an email on Gmail, which of the
following options is not present ?

(A) Text formatting options
B)  Attachfile

C) Insert emoji

D) Resend

E)  Question not attempted

(
(
(
(

In April 2025, who has been appointed as the
Deputy Governor of the Reserve Bank of India and
is also the first woman to hold this position ?

>

(A)  Anju Rathi Rana
(B)  Poonam Gupta
(C) Santosh Agarwal
(

(

)

) Jyoti Sharma
E)  Question not attempted

According to the 2011 Census, the Rajasthan's
population density in comparison to the previous
census has :

Choose the most appropriate answer from the
options provided below :

(A) decreased

(B) remained the same
(©)  increased

(D)  there is no way to tell
(

E)  Question not attempted



15. 9T & HTTT F AR, THF ARART TARRSE HT
PES % fp a5 gfaum™ &1 ate B, 9 ar
WA o T €ATST 3T TS T T THATT H |
(A) I TRIBHR
(B)  WTIWIT 3TIHR
(C)  HifeTes B
(D) =TI 3TRIHR
(B)  3raRd e
16. frATaREd | ¥ ST AT e, WRA & FIIemT Hi
TREATAT | A& T SATATE ?
(A) IO
(B)  eqar
(O wgdwar
(D) w9
(B) 3raRd e
17. TR H, ‘TSt Gyemr’ % TR i 3 ?
(A) Tt
(B) HdsRaE™
(C)  HerSir AT
(D)  AfeeTTIST
(B) I aRa ued
18. TfeIigd | ¥ FhE TSR MRIHT 7, |ig AT &
BT B, T A FAWEE T W
BT feeTTg ?
(A)  #HiSETE
(B)  wretedt
(C) HrrIE
(D) EFHETE
(B)  3raRd wed
19.  Te¥ER 2024 H, IS AYATEH 3T St (AR ) FFg
AT 2
(A) qtHETg
(B) fowait
© T
D) ¥=s
(B) 3 IaRa ueA
4 DS22

17.

According to the Constitution of India, it is the

of every citizen to abide by the
Constitution, to respect the National Flag and the
National Anthem of India.

(A)
(B)  Fraternal Right

(©) Fundamental Duty

(D)  Judicial Right

(E)  Question not attempted

Fundamental Right

Which of the following words is not found in the
Preamble of the Constitution of India ?

>

(A) Republic
(B)  Fraternity
(C) Liberty
(

(

S

Federation

E)  Question not attempted

Who was the founder of the “Niranjani sect” in
Rajasthan ?

(A) Pabuji
B)  Saint Haridas
C)  Mehaji Manglia

(
(
(D)  Mallinathji

(E)  Question not attempted

Which one of the following Rajasthani singer,
made the Maand style of folk singing popular, at
the national and international level ?

A)  Meethibai

(

(B)  Gavari Devi

(©)  Moti Devi

(D) Harkabai

(E)  Question not attempted

In December 2024, which team won the Syed
Mushtaq Ali Trophy (in India) ?

(A) Tamil Nadu

(B) Delhi

(©) Gujarat

(D) Mumbai

(E)  Question not attempted

P.T.O.



20. TrAfeiEd # o HF-A TRET 1 gE q9d a2
TSR ?
(A)  BleTrd gt
(B)  Steamrgid
©) SEwHE i
(D) FiwR gt
(B) 31 aRd e
2. T % 68 WS B, “GIsT BT &1 7e’ Hal
STATE ?
(A) TSt HEA
(B)  cTTewTE WaA
(C) ToaeweEd
(D) TT#HEd
(B) I aRa ueA
22. e H THHT Y AT sn3eye argw ¥ S
% 17T ope Ere e feaTed &1 3uaivT fpar STar s ?
(A) A
(B) URSHE
© witrra s
(D) uHTwet
(B)  argand e
23.  Afeat grT Hatua sraTel ¥ 99 9Tt (Het BT 6T
STATE
(A)  Breil HEt
(B) wiewrge et
Q)  Stere Tt
(D) @t tHEt
(B)  3TaRd wed
24.  [TYROT TS U BIg RT3 T H T 50,806 TAT IHT ST
F5TTHT 59,210 & ST & | TERIE :
(A) 38,100
(B) ¥ 38,200
(C) ¥ 38,360
(D) T 39,400
(B) I IaRa ued
25. TR H, BET W 9 FE-91 qareg ATs
AT ?
(A)  RAOR =EE"
(B) 3= =T
©) ST I E
(D) =TT ARSTE T AT
(E)  argand ued
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20.

21.

22,

23.

24.

25.

Which of the following is the second-largest
artificial lake in Asia ?

(A) Kolayat Lake

(B) Didwana Lake

(C©) Jaisamand Lake

(D) Sambhar Lake

(E)  Question not attempted

Which monument of Rajasthan is known as the
‘Hawa Mabhal of Jhunjhunu’ ?

(A)  Khetri Mahal
(B) Lalgarh Palace
(C)  Chittar Palace
(

(

>

S

Rang Mahal
E)  Question not attempted

Which hardware device is used for connecting a
computer to audio output devices like speakers ?

(A) NIC

(B)  Sound Card

(C©)  Graphics Card

(D) SsD

(E)  Question not attempted

The soil type formed due to sediment deposition
by rivers is known as :

(A) Blacksoil
(B)  Laterite soil
(©)  Alluvial soil
(D) Red soil

(

E)  Question not attempted

On simple interest a certain sum becomes ¥ 50,806
in 3 years and ¥ 59,210 in 5 years at the same rate
of interest. The sum is :

(A) 38,100
(B) 38,200
(C) 38,360
(D) 39,400
(E)  Question not attempted

The highest judicial court, at the district level, in
Rajasthan is :

(A) Family court

(B) High court

(C)  District and Sessions court

(D)  Court of the Judicial Magistrate

(E)  Question not attempted



26. AT TF AR 800 F WIS T IH 10% AT b HTA
B &1 o T&T | B A 3/ 15% T 3 9T C i oI [T
C ¥ 39 I%] % FTT T {o THT ?
(A) 920
(B) %976
(C) 1,000
(D) 1,012
(B) 3T aRd e
27.  ToRW TSTYA ATHE A HIA FHTE 3T % REeres
gtz fpam a2
T faT T fapedt 7§ Ho¥ SUER TR T AT
B
(A)  TomEE
(B)  TromyATT
(C) oIS g
(D) T R
(B) IaRa ueA
28. WM 1949 H, ‘e (ISX) TSIAT’ T TS,
frfafad # @ f6e ToA %, THISIT & a8 3
aqT?
T T5T 7T foshedt # F HeW YT 3T BT AT
E8
(A)  FI|ATET, FHieT, ISt 3R AT
(B) IR, AR, FHAT 3R HIAIX
Q) IR, SR, SIHTHT 3R BT
(D) i, TR, THITg 3R QTEqT
(B)  Irqand wed
29. 9 Uty S Al {(eAd U9 B Al B oA E,
TBT B B B |
T UG I I |
(A)  #r=
(B) AT
) I=IE=
(D) 3T
(B)  3raRd wed
30. 8 ¥ 10 STHGRI, 2025 % IR, 18TT YA ARAT
oo Fe, Fal Ml fpar T o 2
(A) T3 Towt
(B)  SAITE, FACH
(C)  aALaR, TS
(D)  STEHQTETR, e
(B)  3aRd e
4 DS22

26.

27.

28.

29.

30.

A bought an item for ¥ 800 and sold it with 10%
profit to B. B sold it with 15% profit to C. How
much C paid for the item ?

(A) %920
(B) %976
(C) 1,000
(D) 1,012

(E)  Question not attempted

Which Rajput ruler revolted against Mughal
Emperor Aurangzeb ?

Choose the most appropriate answer from the
options provided below :

>

) Rana Sanga

B) Rana Pratap

C) Rana Raj Singh

) Raja Man Singh

(E)  Question not attempted

o

(
(
(
(
Greater Rajasthan was formed in March 1949, after
the integration of which of the following states ?

Choose the most appropriate answer from the
options provided below :

>

)  Banswara, Kota, Bundi and Jhalawar
B)  Alwar, Dholpur, Karauli and Bharatpur

C) Jaipur, Jodhpur, Jaisalmer and Bikaner

(
(
(
(

D) Tonk, Dungarpur, Kishangarh and
Shahpura
(E)  Question not attempted

Substances that turn blue litmus paper to red are
in nature.
Choose the most appropriate answer.

>

(A) Dbasic

(B)  hydrophobic
(©) neutral
(

(

)

) acidic

E)  Question not attempted

Where was the 18th Pravasi Bhartiya Divas
Convention held, during January 8 to 10, 2025 ?

New Delhi

B)  Bengaluru, Karnataka
C) Bhubaneshwar, Odisha
D) Ahmedabad, Gujarat
E)  Question not attempted

P.T.O.



31. fofaiad § ¥ 6T Td i, ‘T(STRATH BT B HaT
STTATE ?
(A)  eraT T
(B)  crete™
(C) SIS
(D) =g FAT
(B) 31 aRd e
32, g PRy et #iER, Torer & frtaiad 9 9
fr g d Rua g ?
(A)
(B) TR
©) <E
(D) #Herar
(B) 3raRd e
33. fr=ffad # ¥, frod ToRem™ ¥ ‘s ufedt’
(TIA-HIHIT) TR, 9T Tt & fow, fqwrsg T
T AT B ?
(A)  BEA BRI
(B)  iwet Rrg
©) I
(D) U g S ETad
(B) IraRa ued
34. f=feiEd & ¥ F9-91, Th 9 TSAL AR & 2
(A)  BIFIEE
(B) |
Q) U
(D) TEABE
(B)  3raRd wed
35. TH=iafEd § 9, $i9 J@ER! B, & e
FHATBR I ?
(A) TSI
(B) IWIS
Q)  STaEaTe A=Y
(D) ==
(B) IrIaRa ued
36. foAfeiiad # 9, FFY aUer-9 1, 'aq 9T & w4 H
TATeBd [haT ST HHBaTE ?
(A) T
(B)  amem
©) TguTERAT
(D) q&Er
(E) 3TfaRa ued
4 DS22 8

31.

32.

35.

Which one of the following saints, is known as the
‘Kabir of Rajasthan’ ?

(A) Dhanna Bhagat

(B) Laldas

(©)  Jasnathji

(D) Dadu Dayal

(E)  Question not attempted

In which of the following villages of Rajasthan is
the main Tripura Sundari Temple located ?

(A) Umrai

(B)  Ranakpur

(©) Deshnok

(D)
(E)  Question not attempted

Mandawa

Who among the following, from Rajasthan, earned
international acclaim for his portraiture on ‘Blue
Pottery’ ?

>

(A) Komal Kothari
(B)  Birbal Singh
(C©) Dayaldas
(
(

S

Kripal Singh Shekhawat
E)  Question not attempted

Which of the following is not a Web Browser ?
A) KompoZer

(

(B)  Safari

(©)  Opera

(D)  Google Chrome

(E)  Question not attempted

Who among the following, was a famous artist, of
the Shekhawati Khyal ?

(A) Lachhi Ram

(B) Ugam Raj

(©) Jaydayal Soni

(D) Nanuram

(E)  Question not attempted

Which one of the following musical instruments
can be classified as a “Tat Vadya’ ?

(A) Kanjira

(B) Tasha

(©) Ravanhatha

(D) Turhi

(E)  Question not attempted



37. U Soddol 7 2191 IRt F 84 T 91T, ey 3@t
3T 2 T I T | IHHT 21 UTRAT BT AT -
(A) 44w
(B) 42w
© 46T
(D) 487%F
(B)  3raRd e
38. frAfiEd ® ¥ Fpu gcaiamet & g5 H THaR
AT HT Aged FpaT AT ?
(A) TSI A
(B) TSI HM e
© TSTIE A
(D) Tom3EH e
(B) 3raRd e
39. 2011 H T F IAR, TCEAT HT &
ISUIGRICRCREIDIE
(A) 914 ATEAT/1000 T&X
(B) 928 Ai&eT1/1000 T&X
(©) 933 AlEAT/1000 T&W
(D) 943 H&AT/1000 T&F
(B) IraRa ueA
40. Uit AT 3iqa: TrfeEd # ¥ fpEH ST THerdt
g7
(A) STl Bl T
(B) fegHE™mR
(©) =FEaaEt
(D) H=SHTIO
(B)  3raRd e
41. TR | H HIF-HT B T HT T T
FHEATATE ?
(A) YRR e
(B)  wifgsT
©) FNR
(D)  wAA
(B) 3raRd e
4 DS22

37.

38.

39.

41.

A batsman makes 84 runs in his 215t innings and
thus increases his average by 2 runs. His average
of 21 innings is :

(A) 44 runs
(B) 42runs
(C) 46runs
(D) 48 runs

(E)  Question not attempted

Who among the following led Akbar’s forces in the
Battle of Haldighati ?

(

>

) Raja Todar Mal
B) Raja Man Singh
C) Raja Amar Singh
)  Rana Udai Singh

)

(
(
(
(

es]

) Question not attempted

What was the urban sex ratio of Rajasthan as per
the Census 2011 ?

(A) 914 female/1000 male
(B) 928 female/1000 male
(©) 933 female/1000 male
(D) 943 female/1000 male
(E)  Question not attempted

The Luni River ultimately drains into which of the
following ?

(A) Bay of Bengal

(B) Indian Ocean

(©) Chambal River

(D)  Rann of Kutch

(E)  Question not attempted

Which one of the following flowers is known as the
‘State Flower” of Rajasthan ?

(A) Desert Rose

(B) Rohida

(©) Kaner

(D) Lotus

(E)  Question not attempted

P.T.O.



42,

43.

44.

45.

W,maﬁiw%mﬁﬁﬁ%a?%;%:%%
AT # F| A(g 37 I H HAME 10%, 10% 3R
20% 1 TG HI AT &, T I AT H AT SR 2

(A) 23:33:60

(B) 15:10:48

(©) 22:33:60

(D) 22:30:55

(B)  3raRd e

frafeiad & & S=-91, g aaat & e #,
T T TR0T STl fafer g ?

= Tow T foebedi # & Yl UG I BT IATT
P

A)  qEHH BHAT

B) @EEATT

C) ST

D) wiiRes Bt Al § e p b fes |
T

(B)  Irqand wed

TSI TYHR & JTd Tl Q1 fawnT & w=
(S 2025 & 3TER) FIAE ?

(A)  fHREre

(B) #Hed faefra”

© TS=RE

(D)  STNTRT 9ee

(B)  3TaRd e

WA 1 STATOTAT 2011 3 AR, T 7 faepeat 7 4 | 45.

TSR & FrfeTRad fStert & o fore Rt & smearn

(A) SRR
(B) SI=I1

© i

(D)

(B)  3raRd e

4 DS22 10

42,

The monthly salaries of Ram, Ajay and Aslam are
1 1

10 6
increased by 10%, 10% and 20% respectively, then
their salaries will be in the ratio :

in the ratio . If their salaries are

(A) 23:33:60
(B) 15:10:48
(C) 22:33:60
(D) 22:30:55
(E)  Question not attempted

Among the following, the most eco-friendly
method for disposal of dry leaves is :

Choose the most appropriate answer from the
options provided below :

(A) Dumping in river

(B) Composting

(©) Burning

(D) Stuffing into plastic bags and throwing in
the garbage bin

(E)  Question not attempted

Who is the Minister of School Education

Department under the Government of Rajasthan
(as of June 2025) ?

(A) KirodiLal

(B) Madan Dilawar
(©) Gajendra Singh
(D) Jogaram Patel

(

E)  Question not attempted
As per the Census of India 2011, from the given

options which of the following districts, recorded
the highest literacy rate in Rajasthan ?

(A)  SriGanganagar
(B)  Jhunjhunu

(C©) Sikar

(D) Baran

(

E)  Question not attempted



46. TH EIS WO 9 U | W FTAT &, S fh aoil &
TR % BROT IH AL H 6 ° 37 7 | IX AL g0
ST 1 T SR b= e | Welt B0 ?
(A) 20
(B) 23
C) 2=
(D) ul
(B)  Irgand e
47. AT, TR I AU & TETET g1 H e
ST STt STTeTt &1 T BT ST S ?
(A)  Harar
(B) amrEt
©) et
(D) BTkt
(B)  3raRd e
48.  T(STT I Ul AT Hl i o 2
(A)  FHHATIATITA
(B)  TTERTIS
(C) TsmeTRAT
(D) femTHaR
(B)  Irqand wed
49.  FIQUHTET TSI THAROT TSRATT & = TarEd
HFAfra g ARae?
(A)  yaTETg 3R e
(B) TR T ATIR
(C)  3TCTaR 3R HAYR
(D) AT MR T
(B)  3raRd e
50. T & o s & foTU, Toree S g1 Y
TSE 202526 F FAAR AHAARET H F HA-H
HTIHH L6 B BT FETTATLE ?
(A)  EHAT STHTHT [T TreTAT
(B) AT HIATECT 4 Tt aRatst=T
(C) Tt U WA 41 Torame FHTehH
(D) AT STCTHR ST HTUHA
(B)  Irgand e
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48.

49.

50.

A cistern is normally filled in 9 hours but takes
6 hours more to fill because of a leak in its bottom.
If the cistern is full, the leak will empty it in how
many hours ?

(A) 20
(B) 23
1
© 2
1
(D) 24

(E)

The dialect spoken in the areas of Banswara,
Dungarpur and nearby hilly areas of Rajasthan is
called :

Question not attempted

(A) Mewati

(B) Wagdi

(©) Dhundhari
(D) Hadoti

(

E)  Question not attempted

Who was the first woman Minister in Rajasthan ?
(A) Kamla Beniwal

(B)  Vasundhara Raje

(©)  Yashoda Devi

(D) Diya Kumari

(

(3!

) Question not attempted

The Sitamata Wildlife Sanctuary is situated in
which of the following regions of Rajasthan ?

>

)  Pratapgarh and Chittorgarh

(

(B)  Bikaner and Nagaur
(C)  Alwar and Bharatpur
(D)  Sikar and Jhunjhunu

(E)

For the development of border areas, which of the
following programs, is said to be launched by the
Rajasthan Government, as per the State Budget
2025-26 ?

Question not attempted

(A)  Mukhyamantri Jaisalmer Vikas Yojana

(B) Mukhyamantri Seema-Varti Kshetra Vikas
Pariyojana

(©) Mukhyamantri Thar Seema Kshetra Vikas
Karyakram

(D)  Mukhyamantri Jaisalmer Utthan Karyakram

(E)  Question not attempted

P.T.O.



51.

52.

53.

54.

55.

a1’ | vEd T B

(A) =

(B) TH

©) 3=

(D) w&

(B)  STIaRa wed

ST B FIHR rofat F Srerte B & g9 &
Tope o=r-%9 =BT v R STTaT & 2
(A)  FH=

(B)  HTITCTT MG

©) III=RSH

(D)  v-famfea

(B)  3raRd e
‘RATA R BITLE 2’

SUIFRT TR H HATH BT HITA-ATHS & ?

(A)  GTITEH TIATH
(B)  HaeraTad qaAH
(©)  uR=TUETaE qIATH
(D)  fAy=aTas gd=™
(B)  STaRa 9

“37ET % BT TR AT AT BT T F :

A) 37 TR T AT e |

B)  3fel &fe Bt 9 geit &1 FHet ST |

) 37 ST | ST BT & ST |

D) 3141 e Hi &1 T4 % Bel U &

0

(
(
(
(

STl
(B)  3raRd 9o
‘ ADVERTISEMENT Te3 &t fait & :
(A) gt
(B) fagma=
(©)  TfaaT
(D)  IgEom
(E)  3rTaRa ued

56.

57.

58.

59.

60.

TR aTert # | HIF-A1 T 3T JABIA
FTIITEE ?

(A)  FEATAT IS Er AT |

B) it stect faremt arsTet g o |

Q) dfg reft-areft e 7 |

D)  HAS Hel Y& 4T AT |

E)  3raRa ued

Trferiaa arert # ¥ TeeH sre f3ham &1 g
TIME?

(A) T A @R
(B) ISERAER T
© AUzl
(
(

(
(
(
(

D) FEI®9s et gl

E) 3 aRd 997
“STTET T A i- T g

E)  3raRd ued

(A)  ITHIRAHATH
(B) mm

©) fewe™

(D) A

(B) 3raRd wed
TETTH 27T H ITEA
A =

(B) =g

© war

(D) mE

(B) 3raRd wed



61.

62.

63.

64.

65.

TR H & -7 a7 I[OTaTa [T FHT
STENOT AR §?

(A)  FHIFR AT ATA BT

(B)  HETE H TI-WR G W @IGAT A 2 |
© I ATA-ATA TR T&d TS &

(D) AT & I THSIA BUS B

(B)  3raRd e
TrfeTiad # I 915 a1 T T FHIT :

(A)  H P FERAT FRIETE |

(B) TN FATIAG 2 |

(C)  HFTHIY qH IAB! AT IET |

(

(

>

D) it TR WRATS Sl BT g Wl |
E) 3 and wed

SNTOIT” 9Teg B feretio STeg &I

(A)  Trersit

(B)  wemsit

©  urEAsft

(

(

o

) gl

E)  3rqaRd ued
frTaRad el # & B i-97 9T TRy A Y B2

E) I aRd 99

(e) TWHY

T o T Fereped # A e SUGERT ST BT =99
BT :

FAA (a) 3 (b)

B) T (a) 3T (e)

O %A (c) 3T (d)

D)  &ad (b) 3R (e)

E)  3raRd ued
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66.

67.

68.

69.

70.

-1 # ST 77 e 9TesT 1 o= gt-11 # faw

T I7F TATATF TET AT H BT :
-1 (TH) TE-11 (T59)
(@) | e @ |4
(b) | == (i) |3
(© |3 (i) | &
(d) | gh= (iv) | 98
Tt Teu U ferepedt # A W& 3T BT I HITTT ;
(A)  (a)-(iv), (b)-(ii), (0)-(1), (d)-(iii)
(B)  (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
©  (a)-(iii), (b)-(1), (c)-(ii), (d)-(iv)
(D) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(B) 3raRd wed
‘I AT FETAX BT HET T :
(A)  oTh FTHAT
(B)  3TEHH ST
© dwHLT
(D)  FHIIEAT
(B)  3raRd e
T iiare & F o7 AT T ITERL -
( v
( Tty
( HErHd
( femrs
( ITANT T

’ 9168 % ToTq WET i e

ST T 7T SUHTR BT AT &Y
ST {46 T 71U ST 1 7 AATED
e TR Tgd suR fpU T A
ST AT g A

AR 99

frfaRaa 9Teal | F BI-TT “HHA’ HT TGN
T E?

A

B)  Serst

C) W

o

E)  3raRd ued

99952359052

(
(
(
(
(

P.T.O.



71.

72.

73.

74.

Choose the most appropriate option to convert
the given sentence from Direct Speech to
Indirect Speech :

He asked, “What were you reading yesterday
night ?”

(A) He asked what was [ reading the
previous night.

(B) He asked what I had been reading the
previous night.

(C) He asked what I have been reading the
previous night.

(D) He asked the previous night what I was

reading.
(E)  Question not attempted

Choose the sentence with the correct usage of

Punctuation from the options given below :
(A) Narayan Singh, my coach, will teach me

new football techniques.

(B) Narayan Singh; my coach will teach me
new football techniques.

(C) Narayan Singh - my new coach will teach
me new football techniques.

(D)  Narayan Singh my new coach, will teach
me, new football techniques.

(E)  Question not attempted

Fill in the blank by choosing the most

appropriate answer from the options given
below :

He hinted that he some pocket money.
A)  had want
B) want
)  wanted

(

(
(C
(D)  wanting

(E)  Question not attempted

For the given Assertive sentence, choose the
correct Exclamatory sentence from the options
provided :

It looks very odd.

(A)  Looks very odd, right ?
B) How odd it looks!

C) Itreally is odd.

D) Odditis!

E)  Question not attempted
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75.

76.

77.

78.

Fill in the blanks in the given sentence by

choosing the most appropriate words from the

options provided :

You may play with my pet , but my
boy, do not cause any harm to it.

>

(A)  dear, deer
(B)  dare, deer
©
(
(

dire, dear

-

) deer, dear
E)  Question not attempted

For the given sentence, choose the most
appropriate answer from the options provided :

Air-pollution is serious problem in

Delhi these days.

(A) a

(B) the

(©) an

(D) some

(E)  Question not attempted

Choose the most appropriate option to translate
the given sentence from English to Hindi :

Three armed men barged into the manager’s
cabin.

(A)  FSR A T ERERET et B I
PTEHET H TR T

(B) A homes srad R ¥ i
|

(© & s sradt R ¥ riwe #
T |

(D) & zfommes srEdt RS & i
SEREE ! gE |

(E)  Question not attempted

Which of the following is the correct

transformation of the given Interrogative

sentence into an Assertive sentence ?
Isn’t virtue its own reward ?

(A)  Virtue is not its own reward.
(B)  Virtue is its own reward.

(C)  Virtue may be its own reward.
(D)  Virtue is rewarding!

(

E)  Question not attempted



79.  Fill in the blank in the sentence given below by
choosing the most appropriate answer from the
options provided :

adults know how to conduct themselves
in public places.
(A) Manyan
(B) Much
(© Many
(D)  The few
(E)  Question not attempted

80.  Which of the following is the correct
transformation of the given Assertive sentence
into a Negative sentence ?

I am happy with what I am earning now.

(A) I am not happy with what I am earning
now.

(B) Iam happy, I am not earning now.

(©) I am not happy that I am not earning
now.

(D)  I'will be happy if I earn more than now.

(E)  Question not attempted

81. Choose the most appropriate English translation
of the given sentence from the options
provided :

W TER F T TE Te-U-Seg 7S

LR

(A)  Inmy thinking, you come fast here.

(B)  I'think so you come quickly to here.

(C)  Ithink that you should come here as soon
as possible.

(D) I think that you must arrive to this place
quick.

(E)  Question not attempted

4 DSs22
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82.

83.

84.

85.

Choose the most appropriate Hindi word for
the word ‘MEMO'.

(A)  wqfa

(B)  3rf-TRHRI U
© gy

(D)  Fmu=

(E)  Question not attempted

Identify the grammatically most appropriate
sentence from the options given below :

(A) Inever have seen such beautiful sunset.
(B)  I'have seen never such a beautiful sunset.
(C©)  Ihave never seen such a beautiful sunset.
(D) Iseen never such a beautiful sunset.

(E)  Question not attempted

Choose the correct Passive form of the given
sentence from the options provided :

The lawyer gave Arun the details of his uncle’s
will.

The lawyer will give Arun the details of
his uncle’s will.

(B)  The lawyer is giving Arun the details of
his uncle’s will.

(C)  Arun was got the details of his uncle’s
will from the lawyer.
(D)  Arun was given the details of his uncle’s

will by the lawyer.
(E)  Question not attempted

Fill in the blank by choosing the correct option :

I saw Rohit a concert last Saturday.
(A) since

(B) on

(C) off

(D) at

(E)  Question not attempted

P.T.O.



86. WRT Bl STAOMT 2011 F IR, TRAH &
frfafea # @ few 5@ 7 femmaama (w1000
TS TR ATECATST I AAT) T HH gof {6 74T
qT?
(A)  FRR
(B) @R
©) wawTE
(D)  efaqR
(E) a9
87. fTy=laiad ¥ ¥ [pe WA T § “3NdHTelT
T IR Rt Rea 2 2
(A)  HAREH
(B)  smervwar
©
(D) 3m=H
(B) IraRa ueA
88. {2025 F 3 H, TOTEATT TLHN 3 WA TIHR
FH T UEd F IF@Id, TSI ATR-Tgd
(HETT) EifsTa fpu T ) 2
(A) 3T 18T
(B) I IS
(C)  3MRT e
(D) 3T oMtes
(B) IaRa ueA
89. 128 T UIA-3TSdl, 80 % TR-Urad A b7 WdeTd
afis ® ?
(A)  20%
(B)  25%
(C)  30%
(D) 35%
(B) 3raRd "=
90. % 2,550,000 TR 15 HEMT BT 12% dTMIH I T THI (&
STST FTA B, ST SITST T Tt & Tl
(A) 38,400
(B)  ¥39,300
(C) T 46,802
(D) 39,327
(B) 3 IaRa ueA
4 DSs22 16

86.

87.

Which of the following districts of Rajasthan,
recorded the lowest sex ratio, (number of females
per 1000 males) in the Census of India 2011 ?

(A) Dungarpur

(B) Jalore

(C) Pratapgarh

(D) Dholpur

(E)  Question not attempted

In which of the following Indian state is the
“ Agasthyamala Biosphere Reserve” located ?

(A) Karnataka

(B) Andhra Pradesh

(©) Kerala

(D) Assam

(E)  Question not attempted

Under which of the following initiatives of the
Rajasthan Government and the Government of
India, were state-wide mock-drills organized, in
late May 2025 ?

(A) Operation Rakshak

(B)  Operation Safeguard
(C)  Operation Shelter

(D)  Operation Shield

(E)  Question not attempted

By what percent is five-eighth of 128, is more than
four-fifth of 80 ?

(A)  20%
(B) 25%
S 30%
(D) 35%
(E)  Question not attempted

Find the compound interest on I 2,50,000 for
15 months at 12% per annum compounded half
yearly.

(A) 38,400
(B) 39,300
(C) 46,802
(D) 39327
(E)  Question not attempted



91.  IISTEAT 3T AR b S SFRIE T HHAT B B |91
W@W% :
(A) 1170 Fet
(B) 1070 Tt
(©) 970 Tt
(D) 1270 fomt
(B) 3raRd e
92. A, B 3 C 7 FHM T 36,000, T 40,000 3 T 48,000 | 92-
T [I9T FTH WIGIERY S HT | T F 31 H T 62,000
FHAATHH, A 3T C FATHIN H o7 3T E 2
(A) T 4,000
(B) ¥ 5,000
(©) % 6,000
(D) %6280
(B) 31 aRd e
93. TSR A I & N i “Afarieat 1w’ i FHar | 93.
STATE ?
(A) ST AT HAT
(B)  wifgl Helr
(©) S TUIYER HeT
(D)  fewit FHeTOTST HAT
(B) IrIaRa ueA
94. fa=fafad & ¥ -9 S0 & 8T 1 oTeror A8 | 94.
ATATSTATE ?
T faT T fapedt 7 § HEE SO TR T AT
B
(A) 3T BE ATAT
(B)  31feres gETAGOTA
Q) FETAEA H TG
(D) 3= THTTH TaeTeRar
(B) IrIaRa ued
95. GEIOISI F1 TG H Y i ebe BIATE, TEECATE ;| 95.
(A)  srwTel
(B)  wEt
(©) SaRadr
(D) ¥H
(B) 3raRd e
4 DS22 17

The total length of the international border
between Rajasthan and Pakistan is approximately :

(A) 1170 km
(B) 1070 km
(C) 970 km

(D) 1270 km

(E)  Question not attempted

A, B and C entered into a partnership by investing
% 36,000, X 40,000 and X 48,000 respectively. At the
end of the year, what is the difference between the
shares of A and C out of the total profit of ¥ 62,0007

(A) 4,000
(B) 5,000
(€©) 6,000
(D) 6,280
(E)  Question not attempted

Which fair in Rajasthan is also called the ‘Kumbh
of the Tribals” ?

(A) Sheetla Mata Fair

(B)  Bhartrihari Fair

(©) Baneshwar Fair

(D) Diggi Kalyanji Fair

(E)  Question not attempted

Which of the following is not considered as a sign
of soil degradation ?

Choose the most appropriate answer from the
options provided below :

(A) High humus content
(B)  High soil salinity

(C) Increased soil erosion
(D)  High chemical toxicity
(E)  Question not attempted

The trait that expresses itself in F1 generation
is:

(A) Recessive

(B)  Dominant

(©) Mutant

(D) Hybrid

(E)  Question not attempted

P.T.O.



96. TS T TEATE 5 ; 6 AT H & 3R IAHT LCM 210
&, 1 3T HCF 8N ;
(A) 10
(B) 11
© 7
(D) 14
(B)  3raRd e
97.  TRAT eFRIRT UY 8% AT 3T 3 TV o Ahghg AT
31 FTOIROT TST | 37 T 616 & | T8 &A1 0
|
(A) 22,500
(B) ¥ 24,000
(C) 31,250
(D) % 62,500
(B) I aRa ueA
98. WA & T HT, PIA-TT TS IH, T, T,
fT o7 5V T & YN W WewWT & e J
ey ?
(A)  FT=T3
(B) 3T 21A
© =15
(D) 3TT=5T40
(B) 3raRd e
99. WRA F IT-UEH I HSA () HT @A,
R A 9 pr A e Rua g 2
(A)  TFEFR
(B)  STerqT
©) SER
(D) 3TEY
(B)  3raRd e
100. IERAT TS 2025-26 F IR, AFHT & (0
IPAT by, TRAT & 67 TR F i 6
ST ?
(A)  SrEaTST
(B) WAL
(C) dwR
(D) wEHR
(B) rIaRa ued
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96.

99.

100.

If two numbers are in the ratio 5 : 6 and their LCM
is 210, then their HCF is :

(A) 10

(B) 11

o 7

(D) 14

(E)  Question not attempted

The difference between compound interest and
simple interest on a certain sum of money for
3 years at 8% per annum is X 616. Find the sum.

(A) 22500
(B) 24,000
(G 31,250
(D) 62,500
(E)  Question not attempted

Which Article of the Constitution of India, deals
with prohibition of discrimination on the grounds
of religion, race, caste, sex or place of birth ?

(A) Article3

(B)  Article 21A

(C©) Article15

(D)  Article 40

(E)  Question not attempted

The headquarters of the North-Western Railway
Zone of India, is located at which of the following
places ?

(A) Bikaner

(B)  Jodhpur

(©) Jaipur

(D) Ajmer

(E)  Question not attempted

As per the Rajasthan budget 2025-26, the Centre of
Excellence for Maize, will be established in which
town of Rajasthan ?

(A) Banswara

(B)  Bharatpur

(C©) Bikaner

(D) Barmer

(E)  Question not attempted



101. TR TSR & Afaiad fawnm § ¥ Hi9-31(101.
TIVTNT TS0 B T TRUTRTA (e AT
Toepra) % foTT frrrer=Y 37 S BT T HIATE ?

(A)  TRITTHT TR, TTLATT AIHN

(B) & TrvmT, TSR TP

(©) IS AT TTHMT, AT TIHR
(D) AT T [T, TSI TN
(B)  Irqand wed

102.  HERTOT JaTq &g 37ET, FAferaa ® & fohe w2 | 102.

o R ?

(A)  g=B

(B) =dI®

(C) HugeT

(D) sER

(B)  Irgand e

103.  “THEaE Wi g TRETSHT” 7% §9 H TsreqT |103.
& frferiaa Frett st e agamar 2
(A) BTG XIS
(B)  SATErqR 3R TeAT
(C)  HIT T SATATATS
(D) i MRS
(B)  Irqaid wed

104. frfalad # o, fopae fawrd Tetee=t Srer-Hirg | 104.
“TITT” ST, TIAT BT A ?

(A)  AfoT AT

(B) =TS IHA

(C)  TIABILTSTIRN
(D) e fag sremaa
(B)  Irgand e

105. €9 AT (Union List) WA Hiqem Hi f6w |105.

I BT e TR ?
(A) gth
(B) 7th
(C) oth
(D) 11th
(B)  3aRd e
4 DS22 19

Which of the following departments of the
government of Rajasthan performs monitoring and
coordination function for all the municipal bodies
(Urban Local Bodies) of the state ?

(A) Department of Municipalities, Government
of Rajasthan

(B)  Department of Home Affairs, Government
of Rajasthan

(C) Department of Chief Operations,
Government of Rajasthan

(D) Department of Local Self Government,

Government of Rajasthan
Question not attempted

(E)

In which of the following places, is the Maharana
Pratap Airport located ?

(A) Pushkar

(B) Dabok

(©) Khandela

(D)  Jaipur

(E)  Question not attempted

The “Sidhmukh Major Irrigation Project” primarily
benefits the following districts of Rajasthan :

(A) Hanumangarh and Churu
(B)  Jodhpur and Pali

(©) Kota and Jhalawar

(D)  Tonk and Bundi

(E)  Question not attempted

Who among the following, composed the famous
Rajasthani poetry collection “Pagfero” ?

(A) Mani Madhukar

(B) Meghraj Mukul

(C) Satyaprakash Joshi

(D)  Gordhan Singh Shekhawat
(

o

Question not attempted

The Union List is part of which schedule of the
Constitution of India ?

(A)  eth

(B) 7th

(©) oth

D) 11th

(E)  Question not attempted

P.T.O.



106. T = JF TEU HAM R 680 3R T 820 7 Tt | 36+ | 106.
TETt I 5% BT & T 3T AL a6 15% o9 &
T Y| S AN e | IHBT AT Ul &0
ST T Y | (ST o 2 TAT A6 Tal)
(A) &T¥,10.25%
(B) ®TH,5.93%
(C) ,5.86%
(D) =M, 5.12%
(B) 3T aRd e
107. feafmraans? 107.
T fqT 777 fospedt # ¥ oW SUYER S HT AT
B
(A)  ig o= #t ulpar
(B) HfHedTR # FfeAT T IaT cHTHT 3T 32 St
HI P UTHAT
(C) HIFEITT Bl AT BIA P qrpAT
(D) WiRdIT T B HI ATepaT
(B) I aRa ueA
108. 7(fg (A +B)HT20% = (A—B)HT 50%, A A:B &: |108.
(A) 7:3
(B) 3:2
(C) 5:2
(D) 8:3
(B)  3raRd e
109. STraqR 1, fefafad § & 6w oie Jor el 7| 109.
Algemt MR 9 Sied g ot O fefed wew,
TEFJAHLATE ?
(A) T
(B) @RI
©) HsergH
(D) iigg g
(B) IrIaRa ued
110. HIHE M ITF I & TAY H, o F,(110.
Freferiad & 9 Bie-wrs Ty e AEr ot ?
(A)  3TFRQTE
(B) WS
(C) fraemér
(D) 9rH=ET
(B) rIaRa ued
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Saurav bought two items for ¥ 680 and ¥ 820
respectively. He sold the first item with 5% loss
and the second item with 15% profit. Find his
profit or loss percentage in the whole transaction.
(correct to 2 decimal places)

(A) profit, 10.25%

(B)  profit, 5.93%

(C) profit, 5.86%

(D) loss, 5.12%

(E)  Question not attempted
What is debugging ?

Choose the most appropriate answer from the
options provided below :

(A) The process of writing code

(B) The process of finding and fixing errors in
software

(C)  The process of deploying software

(D)  The process of installing software

(E)  Question not attempted

If 20% of (A +B) =50% of (A—B),then A:Bis:

(A 7:3

(B) 3:2

(© 5:2

(D) 8:3

(E)  Question not attempted

In which of the following folk dance forms of
Jodhpur, do women carry perforated pots, on their
heads, with burning lamps inside ?

(A) Agnidance

(B) Chang dance

(©)  Ghudla dance

(D)  Gindar dance

(E)  Question not attempted

Which of the following was not a style of turban in
Rajasthan, during the medieval times and beyond ?

(A) Amarshahi

(B)  Khanjar Shahi

(C)  Shivshahi

(D) Pomcha

(E)  Question not attempted



111. A T B THeTe Reelt &1 @t 20 &7 # % 5 &,
TR B T C THetet 3 24 fo7 & #¢ 9pa Bl afe
A, B TUT C T 36T &1 &t 16 &7 # e 9560 8,
qr A TUT C Tt SHT B Bt feba fea A T aiir 2
(A) 28
(B) 30
C) 32
(D) 34
(E)  3rTaRa uea

112, TR H, STl AQTY G701 & TTT, 379 vmat &
FROT, AR 7 § 6 ‘STAITT’ & §F F AT
STATE ?
(A) ST
(B) et fire
© wesfaE
(D) wam e
(B) 31 aRd e

13, % -
40 —
F R R I
T T 22T 9T X H 2017 ® 6 HEAT & [T T5H
3R e ATEAT (BRI H) BT GT I AT B |
e ; T # TEe! TEAT ATgHT Bl FLATAT 2 AR I
T et ATEA1 i &M 8 |
TST 7T 37T % MR 97, AR 2017 B AT A
IV 2017 H TEF & IATAT, ATEAT & GSTIHIoT H
A gfs g
(A) 8000
(B) 8050
(C) 9500
(D) 9000
(B) rIaRa ued
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111.

112.

113.

A and B together can do a work in 20 days,
whereas B and C together can do it in 24 days. If
A, B and C working together can do the same work
in 16 days, then in how many days will A and C
together do the same work ?

(A) 28
(B) 30
< 32
(D) 34
(E)  Question not attempted

Who among the following, is known as the
‘Waterman’ for his efforts, in water resource
conservation in Rajasthan ?

(A) Arjun Lal

(B) Gopal Singh

(©) Rajendra Singh

(D)  Pratap Singh

(E)  Question not attempted
50

Feb

Mar

Jan Apr May Jun

The given data shows the registration of bikes and
total vehicles (in thousands) for 6 months in 2017
in City X.
Note : In the chart, the first number represents
bikes and the second number represents total
vehicles.

Based on the given data, the increase in the

registration of vehicles other than bikes in April
2017 in comparison to Jan. 2017 is :

(A) 8000
(B) 8050
(©) 9500
(D) 9000
(E)  Question not attempted

P.T.O.



114.

115.

116.

117.

118.

TR T T9IC 2025 % AR, TR & (114,
¥ Uw AfedTel UTeld Sy TTa fer
ST |
(A)  waTS AT
(B)  pFeTTE
(© et
(D) =t
(B) a9
ST T H{ABA AT &b A HTBA BT T (115
fpamufaea® 2
(A) 539t
(B)  7.8WdeTd@
© 104 wfasTd
(D)  14.1 WfaeTd
(B) IaRa ued
Al Raa § ¥ S I-ATTH - UsisA g ? - |116.
(A)  THTEeRS
(B)  fefeas
(©)  guw
(D) #eeH
(B) IraRa ueA
TSR & TR TET Y, “Hicat &1 &’ Wi Har|117.
SATE ?
(A) ST
(B) SRR
©) =1
(D) SR
(B) raRa ued
TfeiEa & ¥ Bi-Tt 7T 791 7T Bt FgE At | 118.
g7
(A)  HR
(B)  wreiiteyer
© o=
(D) gt
(B)  Irgand e
22

According to the Rajasthan State Budget 2025, a
Gharial Rearing Centre, will be established at
in Rajasthan.

(A) Sawai Madhopur

(B) Kumbhalgarh

(©) Kota

(D) Karauli

(E)  Question not attempted

Rajasthan ~ constitutes  approximately = what

percentage of the total area of India ?

(A) 5.3 percent

(B) 7.8 percent

(C©) 10.4 percent

(D) 14.1 percent

(E)  Question not attempted

Which of the following is a protein-digesting
enzyme ?

(A) Amylase

(B)  Trypsin

(C©) Lipase

(D) Maltase

(E)  Question not attempted

Which city of Rajasthan, is also known as the “City
of Bells” ?

(A) Jalore

(B)  Jhalrapatan

(©)  Jhunjhunu

(D) Jaisalmer

(E)  Question not attempted

Which of the following is a tributary of the
Gambhir River ?

(A) Morel

(B) Kalisindh

(C) Sesa

(D)  Sukri

(E)  Question not attempted



119.

120.

frferiaa # g1 # f3T 70 wifass ot &1 g2
H & g 37 oTqatt ¥ M Y S 37 0T B s
FILATE

-1 Tt

(Wfers ) (eTq)

@ |FNFaEaE @ () | FETH (Na)
e

(b) | T () | 9T (Hg)
W BT ST THATE

© | FHTHIIFT (iii) | =T (PD)
PIcEs

(d) | serETEEEE  |(v) | =@ (Ag)

| :
(A)  (a)-(ii), (b)-(0), (c)-(iv), (d)-(iii)
(B)  (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
©  (a)-(), (b)-(ii), (c)-(ii), (d)-(iv)
(D) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(B) 31 aRd e

TS & feteiaa § 9 6w & § (49%a $i
it ) I MR TIH FAE ?

i f5T T foeedt 7 o HaW IUYE AT BT AT
P

119.

120.

(A)  sicTarsT
B) =I=
(C) JHTHT
(D) 3EER
(B)  Irqaid wed
-00o0-
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Match the physical properties given in List-1 to the
metals that exhibit those properties given in List-2 :

List-1 List-2
(Physical Properties) (Metals)

(@) | Liquid at room |(i) Sodium (Na)
temperature

(b) | Can be easily cut |(ii) | Mercury (Hg)
with a knife

(c) | Excellent (iii) | Lead (Pb)
conductor of heat

(d) | Poor conductor of |(iv) | Silver (Ag)
heat

Choose the correct answer from the options given
below :

(A)  (@)-(i), (b)-(1), (c)-(iv), (d)-(iif)
B)  (@)-(i), (b)-(1), ()-(iid), (d)-(iv)
© (@), (b)-(iii), (c)-(ii), (d)-(iv)
(D) (a)-(itd), (b)-(1), ()-(ii), (d)-(iv)
(E)  Question not attempted

Which of the following regions of Rajasthan has
the lowest forest cover (area-wise) ?

Choose the most appropriate answer from the
options provided below :

(A) Bhilwara

(B) Churu

(C) Jaisalmer

(D)  Ajmer

(E)  Question not attempted

P.T.O.
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